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suJecT: SCENCE (SET-1)

CLASS : IX MARKS: 40
DATE : 10.7.2024 TIME: 1% Hrs
I CHOOSE THE CORRECT ANSWER 8x1=8M

1. When a car driver travelling at a speed ©f 10 m/s applies brakes and brings the car
to restin 20's, then the acceleration will Pe:

(@+2m/s*>  (b) -2m/s? (c) -0-5m/s*  (d)+0.5 m/s?

2. Which property of matter is responsible for spreading the fragrance of perfume
placed in one corner of the room ?

a) Diffusion b) Rigidity ¢) Malleability d) None of these
3. Convert - 40°c to Kelvin scale
a) 300K b) 233K ¢) 100K d) 310K

4. What will likely happen if an animalcell and a plant cell are placed in a sugar

solution that has water concentration more than that of the animal cell and the plant
cell?

a) Both the animal and plant cell will burst.

b) Both the animal and plant cell will swell.

c) Animal cell will swell while the plant cell will burst.

d) Animal cell will burst while the plant cell will swell.
5. The nucleus controls all the activities of the cell and acts as a site of DNA material
and protein synthesis. It is composed of some components which all together give the
nucleus its functionality. Here is shown a figure of nucleus with some of its
components labeled as A, B, C and D. can you name these components correctly?

Structure of Nucleus

(a) A= Nucleons; B - Chromatin; C - Nuclear membrane; D — Nucleoplasm
(b) A= Nucleus; B - Chromatin; C - Nuclear membrane; D — Nucleoplasm

(c) A= Nucleolus; B - Chromatin; C - Nuclear membrane; D — Nucleoplasm
(d) A~ Nucleolus; B - Chromatin; C - Nyclear membrane; D — Nuclear wall
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I CHOOSE THE CORRECT ANSWER 8x1=8M

1. When a car driver travelling at a speed of 10 mys applies brakes and brings the car
to restin 20 s, then the acceleration will P€:

(@+2m/s* (o) ~2m/s® () ~0SM/s"  (d)+0.5 mys?

2. Which property of matter is responSible for Spreading the fragrance of perfume
placed in one corner of the room ?

a) Diffusion b) Rigidity ¢)Malleability  d) None of these
3. Convert - 40°c to Kelvin scale
a) 300K b) 233K ¢) 100K d) 310K

4. What will likely happen if an animal cell and a plant cell are placed in a sugar

solution that has water concentration more than that of the animal cell and the plant
cell?

a) Both the animal and plant cell will burst.

b) Both the animal and plant cell will swell.

c) Animal cell will swell while the plant cell will burst.

d) Animal cell will burst while the plant cell will swell.
5. The nucleus controls all the activities of the cell and acts as a site of DNA material
and protein synthesis. It is composed of some components which all together give the
nucleus its functionality. Here is shown a figure of nucleus with some of its
components labeled as A, B, C and D. can you name these components correctly?

Structure of Nucleus

(a) A= Nucleons; B — Chromatin; C - Nuclear membrane; D — Nucleoplasm
(b) A~ Nucleus; B~ Chromatin; C - Nuclear membrane; D — Nucleoplasm
(c) A= Nucleolus; B ~ Chromatin; C - Nuclear membrane; D — Nucleoplasm
(d) A= Nucleolus; B~ Chromatin; C - Nyclear membrane; D — Nuclear wall




ASSERTION AND REASONING

Directions: In each of the following question” astatement of Assertion is given and 2
corresponding statement of Reason is mzoicﬁ below it. Of the statements, given
below, mark the correct answer as;

(a) Both assertion and reason are true and (350N is the correct explanation of
assertion.

(b) Both assertion and reason are true but eason is not the correct explanation of
assertion.

(c) Assertion is true but reason is false.

(d) Both Assertion and Reason are false.

6. Assertion : The speedometer of a car measures the instantaneous speed of the

car.
Reason : Average speed is equal to the total distance covered by an object divided

by the total time taken.
7 Assertion : It is easier to cook food at sea level as compared to higher altitudes.

Reason : The boiling point of water increasés at high altitudes.
8. Assertion : Virchow proposed cell theory
Reason : His cell theory states that all plants and animals are composed of cells.

l. ANSWER THE FOLLOWING 6x2=12M

1. Listany 4 differences between speed and velocity

2. 3. Abody covers a circular path in 20sec.of radius 100m.calculate distance and
displacement of the body at the end of 50s.

3. State the characteristic properties of particles of matter.

4. Define a) Melting point  b) Latent heat of vapourisation

5. List any two differences between prokaryotic cell and eukaryotic cell

6. What is plasma membrane made up of ? Why is it called selectively permeable

membrane?

Il ANSWER THE FOLLOWING 4x3M=12M
1. a. Draw the nature of the graph of velocity-time graph of an object moving with
i) Zero acceleration ii). uniform retardation

b) What is the slope of distance —time graph.

¢) What is the ratio of the Average speed and average velocity of an object moving
in a straight line?

2. How does evaporation causes cooling effect? Explain with examples (any two).

3. What produces more severe burns, boiling water or steam ? Explain.

4. Write about the position and functions of cell wall. Define plasmolysis
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INSTRUCTIONS:

a. The paper consists of six sections ~ VAT VI. Al the questions are compulsory.
. Questions 1 to 10 are of one-mark each ~ fill | In the blanks, one-word answers, MCQs,

match the following, assertion and rcasonmg Tespectively.

Questions 11 and 12 carry two marks ¢4

Questions 13 to 15 carry three marks ¢4

Questions 16 to 17 carry five marks each.

Questions 18 is a case-based questio “ATYing 4 marks read the excerpts carefully and

answer the questions given.

2. Question number 19 is a map-based question, carrying 3 marks.

-0 Ao

I. ANSWER THE FOLLOWING QUESTIONS 10x1M=10M
1. Tropic of cancer passes through which of the following states?

i. Rajasthan ii. Orissa iii. Tripura iv. Manipur

Ai&ii - B.i&iii C.i&iv D.i,iii & iv

2. In the question given below, there are two Statements marked as Assertion (A) and Reason
(R). Read the Statements and Choose the most appropriate option.

Assertion (A): Indian ocean is named after India.

Reason (R): India has the longest coastline on Indian ocean.

A. Both (A) and (R) are true and (R) is the correct explanation of (A).

B. Both (A) and (R) are true but (R) is not the correct explanation of (A).
C. (A) is correct but (R) is wrong.

D. (A) is wrong but (R) is correct.

3. In the question given below, there are two Statements marked as Assertion (A) and Reason
(R). Read the Statements and Choose the most appropriate option.

Assertion (A): Palampur has well developed irrigation system.

Reason (R): The village is located near a river and farmers use wells for irrigation.

A. Both (A) and (R) are true and (R) is the correct explanation of (A).

B. Both (A) and (R) are true but (R) is not the correct explanation of (A).

C. (A) is correct but (R) is wrong,

D. (A) is wrong but (R)lis correct.

4. What was the reason for increased demand of foodgrains in France during 1715-1789?
A. Industrialisation B. Heavy exports

C. Exploitation of bakers D. High raise in population



from th .
¢ for the capital for farming 1€17 ()3,

able {0 ..._J.m:h VIV o
a shops o
the savings 10 buy care, trucks, or to set P 70PS

g3 Some farmers might als

Answer the following hased on the abov¢ X €Tt

a. How do farmers like Tejpal arrang® fixed Capita)) M

b. What do you understand by the tem Working capyi. )

¢ How do .,.6: think the small farmers Of vm_mSvE arr,
1s different from that of Jarge farmers”  2M

M

ange their working capital and how

V. LOCATE THE FOLLOWING ON THE POLITICAL MAp o INDIA  (371M=6M)
19.1. Manipur
11. Smallest state in India

il Island group with capital Kavaratti



achaneniPaggayys

\
mmﬂma

v. " .‘,:me.wc

"SubjectEn

A \\\\\V}/l AR
Date- 09-07-2024 Class- 9 the Zs.,f- 40 Time-1:30 hrs
1.Read the following passage and ==ms§. questions given below [10 m}

Social media has become an integral part of our daily lives, especially for teenagers.
i : snapehals and TikTok illions of young users
Platforms like Instagram, Facebook, ave millio young
worldwide. While social media offers ::Baq.ocm cﬁ.ﬂnmav such as staying connected with
friends and family, sharing moments, and Ewoo<o::m new interests, it also comes with
several drawbacks that cannot be @::&.O: one hand, social media provides a space for
self-expression and creativity. Teenagers €30 showcase their talents, whether it's in art,
music, or writing, and gain recognition and Support from a global audience. It also serves
as a platform for awareness and advocacy- Many teens use social media to voice their
opinions on important issues like climate change, mental health, and social justice,
contributing to meaningful conversations and sometimes even sparking change.
However, the pervasive use of social media has raised concerns about its impact on
mental health. Studies have shown that eXcessive use of social media can lead to feelings
of anxiety, depression, and loneliness. Teenagers often compare themselves to the
seemingly perfect lives portrayed by their peers online, leading to low self-esteem and
body image issues. The pressure to gain likes, comments, and followers can alsc
contribute to stress and a constant need for validation.Moreover, social media can be a
breeding ground for cyberbullying. Unlike traditional bullying, cyberbullying can happen
24/7 and reach a wider audience, making it even more damaging. Victims of
cyberbullying often suffer from severe emotional distress, and in some tragic cases, it has
led to self-harm or even suicide.
Another significant concern is the impact on academic performance. Teenagers may
spend hours scrolling through social media, distracting them from their studies and
reducing their attention span. The temptation to check notifications during class or study
| time can lead to lower grades and academic achievement.In conclusion, while social
media has its advantages, it is essential for teenagers to use it responsibly. Parents and
educators should guide them in setting healthy boundaries and encourage offline
activities that promote well-being. Ultimately, finding a balance between the digital
world and real life is crucial for the holistic development of teenagers.

Questions

1.Analyze how the author uses examples to support the argument about social media's
impact on academic performance, [2M]
2.What solutions does the author suggest to mitigate the negative effects of social media
on teenagers? [2M]
3.What does the word "integral" mean in the context of the passage? [1M]

| a) Unnecessary ~ b) Essential  ¢) Mipor d) Optional
4.What is the meaning of "pervasive" 5 used in the passage? [IM]

a) men b) Limited ) Widespreaq d Insignificant

5.Which of the following best describes the author's overall stance on social media's
impact on teenagers? (M)

a) woom.w_ media is entirely beneficial for eenagers-

b) moo._u_ media is entirely harmfy) to teenagers:

¢) Social media has both benefits apq drawbacks for teenagers.




L
d) Social media should be banneq for (ecn®Sr™:
6.What is the primary concery, the qu(ho" raiscs about the portrayal of lives on socia]
media? [ 1M]
a) It encourages teenagers to POSt more frcquemly.
b) It leads teenagers to spend more money O thcn'r appearance. ‘
¢) It causes teenagers to fee] inferior by comparing themselves to the seemingly perfect
lives of others.
d) It makes teenagers more popyay among their Peers:
7. What are the two benefits of social medid mentioned in the passage ? [1M]
8.Suggest a suitable title for the passage [IM]

Writing apnd Grammar
I1.Write a letter placing an order foy (he Sports equipment (5m]
You are Ronak , sports secretary of natjonal public school,pune.The Prime Sports, Sector
7, SRNagar ,Mumbai has advertiseq 5 clearance sale on sports goods — tennis balls,
basket balls, cricket gloves, pads and shuttlecocks. Being the sports secretary at NPS,
Pune, place an order for the said items.

III. Answer the following as directed [5 X1m =5m]
1.You __ wear a helmet when riding a bike. [Fill in the blank with suitable modal verb]
a)should b)can c)may  d)will
2. Report the dialogue
“We are leaving for vacation tomorrow," they announced.
They announced that —--------
3They .ooooviiiiniini, (work) on this project since last month.[ Fill in the blank using the
correct form of verb |
a) worked  b) have worked c¢) have been working d) are working
4. Each of the students __ responsible for completing their assignments on time.[choose
the correct answer ]
ajare b)is c)were d)be
5. Spot the error in the given statement and rewrite the sentence.
The cat has ran out from the house

Literature
IV.Read the poetic lines given below and answer the questions [3X1m=3m]
Two roads diverged in a wood,and I-
I took the one less travelled by,
And that has made all the difference

a) What do these roads symbolise ?

b) Why does the poet repeat the word "I" in the last three lines of "The Road Not Taken"?
i) To indicate hesitation ii) To emphasise the importance of his decision
iii) To fill the verse with more words  iv) To show anger

¢) In the last three lines of "The Road Not Taken," what does the speaker predict about
his future self's reaction to his choice?

i) He will regret it deeply. ii) He will wonder about the other path.
iii) He will sigh with contentment. iv) He will be indifferent.
v) Read the extract given below and answer the questions [3X1m=3m]

Grand father and I put him away in a little cloget opening into my bedroom wail,
where he was tied securely - or so we thought - ¢ 5 peg fastened into the wall
a)What can be inferred about the grandfather's attitude towards Totto from the act of
tying him securely in a closet?



7

'E)”He 18 indifferent to Totto's actions. i) He Is AMUSed by Totta'e amr:
Tn) He is cautious and wan;s to prevent any Mischief Y 1otto’s antics.
Iv) He is frustrated ang Wwants to punish Totto

P)What does the word "securely" imply i the context of the sentence?

1) Loosely i) Safely iii) Hastily V) Carelessly .

©) Give the opposite word for *fastened’

VI) Answer any 3 the following questions it about 40 50 worgs (3X3m]
1.Why did the last child refuse to take his favourite things in the fair after losing his
parents?

2.Give two instances in the text which makes you m}derstand Bismillah Khan loves India
and Benaras

3.What should we do to make friends with the wind?

4.Why was Margie doing badly in geography ? What did the county inspector do to help

her ?

VII) Answer any one of the following questions in about 100 words [1 X 5m=5m)
1.Discuss how Evelyn Glennie's success a5 a musician despite her hearing impairment
challenges the conventional understanding of limitations and abilities. Use examples
from the text to support your analysis.

2.Discuss the theme of education in "The Fun They Had.How does Asimov present the

contrast between traditional and futuristic methods of teaching?

...................................................................
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GENERAL INSTRUCTIONS

1) This question paper contains five sections A,B,C,D and E . Each section is

compulsory

2) Section A has 10 MCQ ‘s and 1 Assertion -Reason based question of I mark .

3) Section B has 2 very short answer typc questions of 2 marks each.
4) Section C has 4 short answer type questions of 3 marks each.
5) Section D has 2 long answer type questions of 5 marks each.

6) Section E has a case study based questions of 4 marks each with sub parts

Section -A.

Choose the correct answer

1)On dividing 6v27 by 2 v/3 we get.......

A) 3V9 B) 9 C) V12 D) 8
2 )Which of the following is the m form of 2.3 ?

7 22 4 8
A) 3 B) 5 C) H D) 3

3)(256)°'¢ x (256) °®= ... ...
A) 80 B) 64 C)16 D) 4
4)Degree of 2024 iS... ... cee oo
A1 B) 2 C)o D) 4

5) If (2x +5) is a factor of 2x* -k then the value of k = .....

g B) = 0F D)=

6)If p(t) = t* -t + £ -6 then p(-1) = ... ...

A) -3 B) 3 C)2 D) -4

7) (a-b)2- (ab) = ..o

A) 4ab B) a*+b? C) 2ab D)0

8) A point on X -axis is...

A)(1,4) B) (2,0) €) (0, 3) D) none

10 x1=10M




9) If the coordinates of tWo points e _..A‘&i and Q( -3,5) then ( absciasa of P) -
( abscissa of Q) = ( v
0.0 B)-6 c)7 D) none
10) Assortion (A) :The point (0, Y) jies on y XIS
Reason ( R) : The coordinates of yne origin (0, 0)

A) Ais true, Riis true and R is the correct explanation of A
B) Ais true, R is true but R is not (he correct explanation ol A
C) Ais true, R is false

D) A is false, R is tv

Section -B 2x2=4M

s valie of V3z+Vas
11) Find the value of Nl

12) Name the quadrant in which the following points lie
) (-7, -3) bY(S, 1) ¢)(-4,8) d)(7,-5)

Section-C 4 x3=12M

13) Represent v3 on the number line
14) If X =5+2v/6 then find x+ w and x - w .

15) Factorise x* -2x? - x +2 .

16) Write the coordinates of a point
i. Above the x -axis lying on the y- axis at a distance of 3 units.
ii. Below the x -axis and on y-axis at a distance of 7 units
iii. Right of origin and on the x — axis at a distance of 2 units.

Section- D 2x5=10M
17)Ifx= “lwm and y= MM\\M then find the value of x*- y?
18) A) Ifa+b+c=0 then show that a® + b+ ¢* = 3abc M
B) Evaluate (99)° using suitable identity 2M
Section-E M

19) Siddhu, a student of class 9" visited a book shop of his school for purchasing the
Math lab kit. Mr vikas who is running the bookshop in the school told siddhu that the
Math lab kit consists of lab manual and a note book and the total cost of the lab kit is
x>6x+9. He also told siddhu that total price of kit includes individual price of lab
manual and note book

Based on the above information answer the following questions

i. The price of the kit is given by p(x) = x*+6x+9, What is the degree of p(x). 1M
ii. What is the standard form of a cubic polynomial in variable x 1M
iii. Factorise X2 + 6x +9 M




¥ (AMARKs each quesTion)

mcreaseg th‘j

V. CASE STUDY BASED QuUESTIO

1. Aditya started driving his car sPeed till 4 seconds and then he

(6 5econds. Then -
kept his card in constant speed f0 Then after he decreased the speed
After reaching -
of the car up to another 6 secO"dS ching at the starting place, he draws

nds drivi
the speed-time graph of his 16 se© driving as shown below:

—
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1. What type of motion is shown from the fig above by AB and BC?
2. Define a.Uniform acceleration b.Non uniform velocity

3 A truck travelling at 54 km/h is slow down to 36 km/h in 1min . Find the

retardation.

4 What information do you get from Velocity-time graph?(Any two points)

2. All living Organisms are made up of cells and these cells perform all the functions
essential for the survival of the Organism eg. Respiration, digestion, excretion etc. In
Unicellular organisms, a single cell carries out all these functions and in multicellular
organisms different group of cells carry out different functions.Cells were first

discovered by Robert Hooke in 1665.

1) Name the scientist and the year in which he observed living cells?
2) Who discovered the nucleus in the cell?
3) Whatis protoplasm?

4) Name any two unicellular organisms

PUEE 5 eI, S
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